ESM Solutions - Sourcing - Li	ne Item Bid		
		Sentinel Technologies, Inc.	\$ 349,438.98
Event ID	B25009	Zones, LLC	\$ 405,240.80
Event Name	Switch & Wireless Replacement	Tallgrass Systems Ltd.	\$ 432,588.00
Section Name	Standard Line Item Pricing	LN2S Consulting L.L.C.	\$ 604,388.98
Section Attachments		Atrium Advisory Services Inc.	\$ 1,056,800.92

Supplier Name	Response Notes	Response Attachment	Item Number (Requi	ir Item/Service (Required - Entit	Quantity (Re	e Unit Bid	Price (Req	Extended Bid Price	Notes SupplierNotes	Attachme	NoBid
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	C9300-48U-E	Catalyst 9300 48-port UPOE, Network Essentials	30	\$	13,192.04	\$ 395,761.20	Line Item Included wi Listed Pricing. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submitta Atrium Signed v2.pdf Thank You.	1	No
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	C9300-NW-E-48	C9300 Network Essentials, 48port license	30	\$	-	\$-	Line Item Included wi No Additional Charge Please Reference Attached Submittal Document Entitled "J. B25009 Switch and Wireless Replacemen Solicitation - Submitta Atrium Signed v2.pdf <sup>1</sup> Thank You.	C t I	No
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	SC9300UK9-176	Cisco Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL	30	\$	-	\$-	Line Item Included wi No Additional Charge Please Reference Attached Submittal Document Entitled "J. B25009 Switch and Wireless Replacemen Solicitation - Submitta Atrium Signed v2.pdf <sup>4</sup> Thank You.	C t	No
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	PWR-C1-1100WAC	1100W AC Config 1 Power Supply	30	\$	-	\$-	Line Item Included wi No Additional Charge Please Reference Attached Submittal Document Entitled "J. B25009 Switch and Wireless Replacemen Solicitation - Submitta Atrium Signed v2.pdf <sup>4</sup> Thank You.	C t	No

Supplier Name	Response Notes	Response Attachment	Item Number (Requir	Item/Service (Required - Entity	Quantity (Re	e Unit Bid	Price (Req	Extended Bid Price	Notes SupplierNotes	Attachmer	NoBid
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	PWR-C1- 1100WAC/2	1100W AC Config 1 Secondary Power Supply	30	\$	2,247.00	\$ 67,410.00	Line Item Included wit Listed Pricing. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		No
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	CAB-TA-NA	North America AC Type A Power Cable	60	\$	-	\$ -	Line Item Included wit No Additional Charge. Please Reference Attached Submittal Document Entitled "JJ B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		No
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	C9300-DNA-E-48	C9300 DNA Essentials, 48- Port Term Licenses	30	\$	-	\$ -	Line Item Included wit No Additional Charge. Please Reference Attached Submittal Document Entitled "JJ B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		No
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48- port - 3 Year Term License	30	\$	1,324.83	\$ 39,744.90	Line Item Included wit Listed Pricing. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		No
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module	11	\$	3,128.17	\$ 34,409.87	Line Item Included wit Listed Pricing. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		No

Supplier Name	Response Notes			ir Item/Service (Required - Entity	Quantity (Re	e Unit B			Notes SupplierNotes	Attachmer	NoBid
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	SFP-10G-LR-S	10GBASE-LR SFP+ transceiver module for SMF, 1310-nm wavelength, LC duplex connector	20	\$	2,458.75	\$ 49,175.00	Line Item Included with Listed Pricing. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		No
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	STACK-T1-50CM	50CM Type 1 Stacking Cable	19	\$	124.21	\$ 2,359.99	Line Item Included with Listed Pricing. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		No
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	STACK-T1-3M=	3M Type 1 Stacking Cable	6	\$	450.66	\$ 2,703.96	Line Item Included with Listed Pricing. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		No
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	С9300Х-48ТХ-Е	Catalyst 9300 48-port mGig data only, Network Essentials	2	\$	16,112.66	\$ 32,225.32	Line Item Included with Listed Pricing. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		No
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	Wireless Replacement	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	2	\$	-	\$ -	Line Item Included with No Additional Charge. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		No

Supplier Name	Response Notes	Response Attachment	Item Number (Requir	Item/Service (Required - Entity)	Quantity (Re	Unit Bid Price (Re	q Extended Bid Price	Notes SupplierNotes	Attachmer N	oBid
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port - 3 Year Term License	2	\$ 1,324.83	\$ 2,649.66	Line Item Included with Listed Pricing. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		0
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	C9300-NW-E-48	C9300 Network Essentials, 48- port license	2	\$ -	\$ -	Line Item Included with No Additional Charge. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		0
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	SC9300UK9-1712	Cisco Catalyst 9300 XE 17.12 UNIVERSAL	2	\$ -	\$ -	Line Item Included with No Additional Charge. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		0
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	PWR-C1-715WAC-P	715W AC 80+ platinum Config 1 Power Supply	2	\$-	\$ -	Line Item Included with No Additional Charge. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		0
Atrium Advisory Services Inc.	Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.	JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2	PWR-C1-715WAC-P/2	715W AC 80+ platinum Config 1 SecondaryPower Supply	2	\$ 1,478.61	\$ 2,957.22	Line Item Included with Listed Pricing. Please Reference Attached Submittal Document Entitled "JJC B25009 Switch and Wireless Replacement Solicitation - Submittal Atrium Signed v2.pdf". Thank You.		0

upplier Name	Response Notes			r Item/Service (Required - Entit		1			Notes		hmer NoBid
trium Advisory Services Inc.	Please Reference Attached	JJC B25009 Switch and	CAB-TA-NA	North America AC Type A	4	\$	-	\$	-	Line Item Included with	No
	Submittal Document	Wireless Replacement		Power Cable						No Additional Charge.	
	Entitled "JJC B25009 Switch	Solicitation - Submittal								Please Reference	
	and Wireless Replacement	Atrium Signed v2								Attached Submittal	
	Solicitation - Submittal	0								Document Entitled "JJC	
	Atrium Signed v2.pdf".									B25009 Switch and	
	Thank You.									Wireless Replacement	
										Solicitation - Submittal	
										Atrium Signed v2.pdf".	
										Thank You.	
ium Advisory Services Inc.	Please Reference Attached	JJC B25009 Switch and	C9300-NM-8Y	Catalyst 9300 8 x 25G/10G/1G	2	\$	3,016.36	\$ 6,032	2.72	Line Item Included with	No
, ,	Submittal Document	Wireless Replacement		multi-rate SFP Network		1	-,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Listed Pricing. Please	
	Entitled "JJC B25009 Switch	Solicitation - Submittal		Module						Reference Attached	
				wodule							
	and Wireless Replacement	Atrium Signed v2								Submittal Document	
	Solicitation - Submittal									Entitled "JJC B25009	
	Atrium Signed v2.pdf".									Switch and Wireless	
	Thank You.									Replacement	
										Solicitation - Submittal	
										Atrium Signed v2.pdf".	
										Thank You.	
ium Advisory Services Inc.	Please Reference Attached	JJC B25009 Switch and	SFP-10G-SR-S	10GBASE-SR SFP+ Module for	4	Ś	860.98	\$ 3,443	3.92	Line Item Included with	No
	Submittal Document	Wireless Replacement		MMF	•	Ŷ	000.50	φ 3,1 κ		Listed Pricing. Please	
		•		IVIIVIF						-	
	Entitled "JJC B25009 Switch									Reference Attached	
	and Wireless Replacement	Atrium Signed v2								Submittal Document	
	Solicitation - Submittal									Entitled "JJC B25009	
	Atrium Signed v2.pdf".									Switch and Wireless	
	Thank You.										
	Thank You.									Replacement	
										Solicitation - Submittal	
										Atrium Signed v2.pdf".	
										Thank You.	
ium Advisory Services Inc.	Please Reference Attached	JJC B25009 Switch and			130	¢	2,939.32	\$ 382,111	60	Line Item Included with	No
Hum Auvisory Services me.			CJIJOANI-D	Ciana Catalyst 0120 AVI	130	Ļ	2,939.32	Ş 562,111			NO
	Submittal Document	Wireless Replacement		Cisco Catalyst 9130AXI						Listed Pricing. Please	
	Entitled "JJC B25009 Switch	Solicitation - Submittal		Access Point:						Reference Attached	
	and Wireless Replacement	Atrium Signed v2		Indoor environments, with						Submittal Document	
	Solicitation - Submittal			internal antennas						Entitled "JJC B25009	
	Atrium Signed v2.pdf".									Switch and Wireless	
	Thank You.									Replacement	
										Solicitation - Submittal	
										Atrium Signed v2.pdf".	
										Thank You.	
um Advisony Sonvisos Inc	Please Reference Attached	JJC B25009 Switch and			06	ć	416.46	¢ <u>25.045</u>	56	Line Item Included with	No
ium Advisory Services Inc.			v2-10-C1EIN-9130		86	Ş	410.40	\$ 35,815			No
	Submittal Document	Wireless Replacement		Wi-Fi Ceiling Tile Mount						Listed Pricing. Please	
	Entitled "JJC B25009 Switch	Solicitation - Submittal		with						Reference Attached	
	and Wireless Replacement	Atrium Signed v2		Interchangeable Door for						Submittal Document	
	Solicitation - Submittal			Cisco 9130 APs						Entitled "JJC B25009	
				C.500 5130 AT 5							
	Atrium Signed v2.pdf".									Switch and Wireless	
	Thank You.									Replacement	
										Solicitation - Submittal	
						1					
										Atrium Signed v2.pdf". I	
										Atrium Signed v2.pdf". Thank You.	
S Consulting L.L.C.		BID DOCUMENT,	С9300-48U-Е	Catalyst 9300 48-port UPOE,	30	Ś	8,197.91	\$ 245,937	.30		No

	Response Notes Response Attachmen	•	r Item/Service (Required - Entity)		e Unit l	Bid Price (Rec	Extended Bid Price	Notes SupplierNotes At	tachmer NoBid
N2S Consulting L.L.C.	BID DOCUMENT, QUOTE	C9300-NW-E-48	C9300 Network Essentials, 48port license	30	\$	-	\$-		No
N2S Consulting L.L.C.	BID DOCUMENT, QUOTE	SC9300UK9-176	Cisco Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL	30	\$	-	\$-	The SC9300UK9-179 replaced the requested item.	No
N2S Consulting L.L.C.	BID DOCUMENT, QUOTE	PWR-C1-1100WAC	1100W AC Config 1 Power Supply	30	\$	-	\$ -		No
N2S Consulting L.L.C.	BID DOCUMENT, QUOTE	PWR-C1- 1100WAC/2	1100W AC Config 1 Secondary Power Supply	30	\$	1,330.14	\$ 39,904.20		No
I2S Consulting L.L.C.	BID DOCUMENT, QUOTE	CAB-TA-NA	North America AC Type A Power Cable	60	\$	-	\$ -		No
2S Consulting L.L.C.	BID DOCUMENT, QUOTE	C9300-DNA-E-48	C9300 DNA Essentials, 48- Port Term Licenses	30	\$	-	\$-		No
2S Consulting L.L.C.	BID DOCUMENT, QUOTE	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48- port - 3 Year Term License	30	\$	743.53	\$ 22,305.90		No
2S Consulting L.L.C.	BID DOCUMENT, QUOTE	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module	11	\$	1,675.81	\$ 18,433.91		No
V2S Consulting L.L.C.	BID DOCUMENT, QUOTE	SFP-10G-LR-S	10GBASE-LR SFP+ transceiver module for SMF, 1310-nm wavelength, LC duplex connector	20	\$	869.35	\$ 17,387.00	The SFP-10G-LR-S= 10GBASE-LRSFP MODULE ENTERPRISE- CLASS replaced the requested item.	No
I2S Consulting L.L.C.	BID DOCUMENT, QUOTE	STACK-T1-50CM	50CM Type 1 Stacking Cable	19	\$	73.51	\$ 1,396.69		No
2S Consulting L.L.C.	BID DOCUMENT, QUOTE	STACK-T1-3M=	3M Type 1 Stacking Cable	6	\$	206.94	\$ 1,241.64		No
2S Consulting L.L.C.	BID DOCUMENT, QUOTE	C9300X-48TX-E	Catalyst 9300 48-port mGig data only, Network Essentials	2	\$	10,012.86	\$ 20,025.72		No
I2S Consulting L.L.C.	BID DOCUMENT, QUOTE	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	2	\$	-	\$ -		No
2S Consulting L.L.C.	BID DOCUMENT, QUOTE	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port - 3 Year Term License	2	\$	743.53	\$ 1,487.06		No
I2S Consulting L.L.C.	BID DOCUMENT, QUOTE	C9300-NW-E-48	C9300 Network Essentials, 48- port license	2	\$	-	\$-		No
2S Consulting L.L.C.	BID DOCUMENT, QUOTE	SC9300UK9-1712	Cisco Catalyst 9300 XE 17.12 UNIVERSAL	2	\$	-	\$ -		No
I2S Consulting L.L.C.	BID DOCUMENT, QUOTE	PWR-C1-715WAC-P	715W AC 80+ platinum Config 1 Power Supply	2	\$	-	\$ -		No
I2S Consulting L.L.C.	BID DOCUMENT, QUOTE	PWR-C1-715WAC-P/2	715W AC 80+ platinum Config 1 SecondaryPower Supply	2	\$	875.09	\$ 1,750.18		No
2S Consulting L.L.C.	BID DOCUMENT, QUOTE	CAB-TA-NA	North America AC Type A Power Cable	4	\$	-	\$ -		No
I2S Consulting L.L.C.	BID DOCUMENT, QUOTE	C9300-NM-8Y	Catalyst 9300 8 x 25G/10G/1G multi-rate SFP Network Module	2	\$	1,874.45	\$ 3,748.90	The 8 x 10G/25G Network Module SFP+/SI replaced the requested item.	No
V2S Consulting L.L.C.	BID DOCUMENT, QUOTE	SFP-10G-SR-S	10GBASE-SR SFP+ Module for MMF	4	\$	289.82	\$ 1,159.28		No
N2S Consulting L.L.C.	BID DOCUMENT, QUOTE	C9130AXI-B	Cisco Catalyst 9130AXI Access Point: Indoor environments, with internal antennas	130	\$	1,766.24	\$ 229,611.20	Since there was no line item for this service, I had to include it here in the comments. The 1-YR service contract needed to be included, which is an additional \$104.96 x 130 = 13,644.80.	No

Supplier Name	Response Notes			r Item/Service (Required - Entity		e <mark>(Unit</mark> Bi	d Price (Req	Extended Bid Price	Notes	SupplierNotes	Attachme	r NoBid
LN2S Consulting L.L.C.		BID DOCUMENT,	V2-ID-CTEN-9130		86	\$	-	\$	-			No
		QUOTE		Wi-Fi Ceiling Tile Mount								
				with								
				Interchangeable Door for								
				Cisco 9130 APs								
Sentinel Technologies, Inc.	Pricing entered. Signed	Signed Addendum No.	С9300-48U-Е	Catalyst 9300 48-port UPOE,	30	\$	4,434.00	\$ 133,020.0	0			No
	Addendum #1 attached.	1, Signed Certification of		Network Essentials								
	Signed Certification of	Contract Bidder Form,										
	Contract/Bidder Form	Signed Request for Bid										
	attached. Signed Request	Form										
	for Bid Form attached.	Signed Addendum No.	C9300-NW-E-48	CO200 Natural: Facantials	20	ć		\$				Ne
Sentinel Technologies, Inc.	Pricing entered. Signed Addendum #1 attached.	1, Signed Certification of		C9300 Network Essentials, 48port license	30	Ş	-	Ş	-			No
	Signed Certification of	Contract Bidder Form,										
	Contract/Bidder Form	Signed Request for Bid										
	attached. Signed Request	Form										
	for Bid Form attached.	FOITH										
Sentinel Technologies, Inc.	Pricing entered. Signed	Signed Addendum No.	SC9300UK9-176	Cisco Catalyst 9300 XE 17.6	30	Ś		\$				No
sentinei reennologies, me.	Addendum #1 attached.	1, Signed Certification of		UNIVERSAL UNIVERSAL	50	7		Ŷ				
	Signed Certification of	Contract Bidder Form,										
	Contract/Bidder Form	Signed Request for Bid										
	attached. Signed Request	Form										
	for Bid Form attached.											
Sentinel Technologies, Inc.	Pricing entered. Signed	Signed Addendum No.	PWR-C1-1100WAC	1100W AC Config 1 Power	30	\$	-	\$				No
-	Addendum #1 attached.	1, Signed Certification of		Supply		-						
	Signed Certification of	Contract Bidder Form,		,								
	Contract/Bidder Form	Signed Request for Bid										
	attached. Signed Request	Form										
	for Bid Form attached.											
Sentinel Technologies, Inc.	Pricing entered. Signed	Signed Addendum No.	PWR-C1- 1100WAC/2	1100W AC Config 1 Secondary	30	\$	756.00	\$ 22,680.0	0			No
	Addendum #1 attached.	1, Signed Certification of		Power Supply								
	Signed Certification of	Contract Bidder Form,										
	Contract/Bidder Form	Signed Request for Bid										
	attached. Signed Request	Form										
	for Bid Form attached.											
Sentinel Technologies, Inc.	Pricing entered. Signed	0	CAB-TA-NA	North America AC Type A	60	\$	-	\$				No
	Addendum #1 attached.	1, Signed Certification of		Power Cable								
	Signed Certification of	Contract Bidder Form,										
	Contract/Bidder Form	Signed Request for Bid										
	attached. Signed Request	Form										
Continuel Technologies Inc.	for Bid Form attached.	Cigno of Astronomy Mar			20	ć		ć				No
Sentinel Technologies, Inc.	Pricing entered. Signed	Signed Addendum No.	C9300-DNA-E-48	C9300 DNA Essentials, 48-	30	\$	-	\$				No
	Addendum #1 attached.	1, Signed Certification of		Port Term Licenses								
	Signed Certification of	Contract Bidder Form,										
	Contract/Bidder Form	Signed Request for Bid										
	attached. Signed Request for Bid Form attached.	Form										
Sentinel Technologies, Inc.	Pricing entered. Signed	Signed Addendum No.	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-	30	<u>خ</u>	490.00	\$ 14,700.0	0			No
	Addendum #1 attached.	1, Signed Certification of		port - 3 Year Term License	50	ŕ	-30.00	- 14,700.0				
	Signed Certification of	Contract Bidder Form,										
	Contract/Bidder Form	Signed Request for Bid										
	attached. Signed Request	Form										
	for Bid Form attached.											
Sentinel Technologies, Inc.	Pricing entered. Signed	Signed Addendum No.	C9300-NM-8X	Catalyst 9300 8 x 10GE	11	\$	1,052.00	\$ 11,572.0	0			No
0, , ,	Addendum #1 attached.	1, Signed Certification of		Network Module				/				
	Signed Certification of	Contract Bidder Form,										
	-											
	Contract/Bidder Form	Signed Request for Bid										
	Contract/Bidder Form attached. Signed Request	Signed Request for Bid Form										

Supplier Name	Response Notes			reltem/Service (Required - Entity)	Quantity (F		Ī	Notes	SupplierNotes	Attachme	NoBid
Sentinel Technologies, Inc.	Pricing entered. Signed Addendum #1 attached. Signed Certification of Contract/Bidder Form attached. Signed Request for Bid Form attached.	1, Signed Certification of Contract Bidder Form, Signed Request for Bid Form	SFP-10G-LR-S	10GBASE-LR SFP+ transceiver module for SMF, 1310-nm wavelength, LC duplex connector	20	\$ 690.00	13,800.00				No
Sentinel Technologies, Inc.	Pricing entered. Signed Addendum #1 attached. Signed Certification of Contract/Bidder Form attached. Signed Request for Bid Form attached.	Signed Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request for Bid Form	STACK-T1-50CM	50CM Type 1 Stacking Cable	19	\$ 35.00	\$ 665.00				No
Sentinel Technologies, Inc.	Pricing entered. Signed Addendum #1 attached. Signed Certification of Contract/Bidder Form attached. Signed Request for Bid Form attached.	Signed Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request for Bid Form	STACK-T1-3M=	3M Type 1 Stacking Cable	6	\$ 127.00	\$ 762.00				Νο
Sentinel Technologies, Inc.	Pricing entered. Signed Addendum #1 attached. Signed Certification of Contract/Bidder Form attached. Signed Request for Bid Form attached.	Signed Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request for Bid Form	C9300X-48TX-E	Catalyst 9300 48-port mGig data only, Network Essentials	2	\$ 5,416.00	\$ 10,832.00				No
Sentinel Technologies, Inc.	Pricing entered. Signed Addendum #1 attached. Signed Certification of Contract/Bidder Form attached. Signed Request for Bid Form attached.	Signed Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request for Bid Form	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	2	\$ -	\$ -				No
Sentinel Technologies, Inc.	Pricing entered. Signed Addendum #1 attached. Signed Certification of Contract/Bidder Form attached. Signed Request for Bid Form attached.	Signed Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request for Bid Form	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port - 3 Year Term License	2	\$ 490.00	\$ 980.00				No
Sentinel Technologies, Inc.	Pricing entered. Signed Addendum #1 attached. Signed Certification of Contract/Bidder Form attached. Signed Request for Bid Form attached.	Signed Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request for Bid Form	C9300-NW-E-48	C9300 Network Essentials, 48- port license	2	\$ -	\$ -				No
Sentinel Technologies, Inc.	Pricing entered. Signed Addendum #1 attached. Signed Certification of Contract/Bidder Form attached. Signed Request for Bid Form attached.	Signed Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request for Bid Form	SC9300UK9-1712	Cisco Catalyst 9300 XE 17.12 UNIVERSAL	2	\$ -	\$ -				No
Sentinel Technologies, Inc.	Pricing entered. Signed Addendum #1 attached. Signed Certification of Contract/Bidder Form attached. Signed Request for Bid Form attached.	Signed Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request for Bid Form	PWR-C1-715WAC-P	715W AC 80+ platinum Config 1 Power Supply	2	\$ -	\$ -				No
Sentinel Technologies, Inc.	Pricing entered. Signed Addendum #1 attached. Signed Certification of Contract/Bidder Form attached. Signed Request for Bid Form attached.	Signed Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request for Bid Form	PWR-C1-715WAC-P/2	715W AC 80+ platinum Config 1 SecondaryPower Supply	2	\$ 497.00	\$ 994.00				No

ed Signed Addendum No. ed. 1, Signed Certification of Contract Bidder Form, n Signed Request for Bid quest Form d. ed Signed Addendum No. ed Signed Certification of Contract Bidder Form, n Signed Request for Bid quest Form d. ed Signed Addendum No. signed Request for Bid form d. ed Signed Addendum No. signed Request for Bid form, n Signed Request for Bid form, n Signed Request for Bid quest Form d.	f C9300-NM-8Y f SFP-10G-SR-S	North America AC Type A Power Cable Catalyst 9300 8 x 25G/10G/1G multi-rate SFP Network Module	2	\$	- 1,014.00	\$	- 2,028.00				No
of Contract Bidder Form, n Signed Request for Bid quest Form d. Signed Addendum No. 1, Signed Certification of Contract Bidder Form, n Signed Request for Bid quest Form d. Signed Addendum No. 1, Signed Certification of Contract Bidder Form, n Signed Addendum No. 1, Signed Certification of Contract Bidder Form, n Signed Request for Bid quest Form	f C9300-NM-8Y f SFP-10G-SR-S	Catalyst 9300 8 x 25G/10G/1G multi-rate SFP Network Module	2	\$	1,014.00	\$	2,028.00				No
n Signed Request for Bid Juest Form d. ed Signed Addendum No. 1, Signed Certification of Contract Bidder Form, n Signed Request for Bid Juest Form d. ed Signed Addendum No. 1, Signed Certification of Contract Bidder Form, n Signed Request for Bid Juest Form	f SFP-10G-SR-S	multi-rate SFP Network Module	2	\$	1,014.00	\$	2,028.00				No
questFormd.Signed Addendum No.edSigned Certification ofofContract Bidder Form,ofSigned Request for BidquestFormd.Signed Addendum No.edSigned Addendum No.ned.1, Signed Certification ofofContract Bidder Form,nSigned Addendum No.sedSigned Addendum No.sedSigned Certification ofofContract Bidder Form,nSigned Request for BidquestForm	f SFP-10G-SR-S	multi-rate SFP Network Module	2	\$	1,014.00	\$	2,028.00				No
d. ed Signed Addendum No. ed. 1, Signed Certification of of Contract Bidder Form, n Signed Request for Bid quest Form d. ed Signed Addendum No. ed. 1, Signed Certification of of Contract Bidder Form, n Signed Request for Bid quest Form	f SFP-10G-SR-S	multi-rate SFP Network Module	2	\$	1,014.00	\$	2,028.00				No
ed Signed Addendum No. ed. 1, Signed Certification of Contract Bidder Form, n Signed Request for Bid quest Form d. Signed Addendum No. ed Signed Addendum No. 1, Signed Certification of Contract Bidder Form, n Signed Request for Bid quest Form	f SFP-10G-SR-S	multi-rate SFP Network Module	2	\$	1,014.00	\$	2,028.00				No
ned.1, Signed Certification of Contract Bidder Form,nSigned Request for BidquestFormd	f SFP-10G-SR-S	multi-rate SFP Network Module	2	\$	1,014.00	\$	2,028.00				No
of Contract Bidder Form, n Signed Request for Bid quest Form d. Signed Addendum No. ed Signed Addendum No. 1, Signed Certification of of Contract Bidder Form, n Signed Request for Bid quest Form	SFP-10G-SR-S	Module									
n Signed Request for Bid Juest Form d. Signed Addendum No. 1, Signed Certification of of Contract Bidder Form, n Signed Request for Bid Juest Form											
uest Form d. Signed Addendum No. ed 1, Signed Certification of of Contract Bidder Form, n Signed Request for Bid juest Form		10GBASE-SR SFP+ Module for									
d. Signed Addendum No. ed Signed Addendum No. ed. 1, Signed Certification of of Contract Bidder Form, n Signed Request for Bid quest Form		10GBASE-SR SFP+ Module for									
ed Signed Addendum No. ed. 1, Signed Certification of Of Contract Bidder Form, n Signed Request for Bid guest Form		10GBASE-SR SFP+ Module for									
ed. 1, Signed Certification of of Contract Bidder Form, n Signed Request for Bid quest Form		10GBASE-SR SFP+ Module for								4!	
of Contract Bidder Form, n Signed Request for Bid juest Form	f		4	\$	242.00	\$	968.00				No
n Signed Request for Bid Juest Form		MMF									
juest Form											
-											
d											
	00400 004		120		000 5 4	A	116 010 00			_ <b></b>	
ed Signed Addendum No.	C9130AXI-B		130	\$	898.54	\$	116,810.20				No
ed. 1, Signed Certification of	T	Cisco Catalyst 9130AXI									
of Contract Bidder Form,		Access Point:									
		Indoor environments, with									
		internal anternas									
			86	ć	226.22	ć	10 627 78			!	No
-		Wi-Ei Ceiling Tile Mount	80	Ş	220.25	Ş	19,027.78				
, 3		c .									
•		C									
	C9300-48U-E	Catalyst 9300 48-port UPOE,	30	\$	5,300.00	\$	159,000.00				No
		Network Essentials			,		,				
signed											
Bid Packet B-25009	C9300-NW-E-48	C9300 Network Essentials,	30	\$	-	\$	-				No
signed, Addendum 1		48port license									
signed											
Bid Packet B-25009	SC9300UK9-176	Cisco Catalyst 9300 XE 17.6	30	\$	-	\$	-				No
signed, Addendum 1		UNIVERSAL UNIVERSAL									
signed											
Bid Packet B-25009	PWR-C1-1100WAC	1100W AC Config 1 Power	30	\$	-	\$	-				No
signed, Addendum 1		Supply									
signed										!	
	PWR-C1- 1100WAC/2		30	\$	903.00	\$	27,090.00				No
-		Power Supply									
0				· ·						!	
	CAB-TA-NA		60	\$	-	\$	-				No
		Power Cable									
				4		4				_ <b></b> /	
	C9300-DNA-E-48		30	Ş	-	Ş	-				No
		Port Term Licenses									
			20	ć.	F72.00	ć	17 100 00				No
	C9300-DNA-E-48-3Y		30	Ş	573.00	Ş	17,190.00				No
-		port - 3 rear Term License									
		Catalyst 0200 8 x 1005	11	ć	1 104 00	ć	12 124 00			_	No
	C9500-INIVI-8X		11	Ş	1,194.00	Ş	15,134.00				
_											
	SFP-10G-LR-S	10GBASE-LR SFP+ transceiver	20	ć	Q12 00	¢	16,260.00				No
signed, Addendum 1	31 F-100-FV-2	module for SMF, 1310-nm	20	Ş	012.00	Ŷ	10,200.00				
Jagneu, Auuenuum I				1		I				· · · · ·	1
signed		wavelength, LC duplex								i i	
eccentric eccent	equest Form hed. Signed Signed Addendum No. ched. 1, Signed Certification of Contract Bidder Form, orm Signed Request for Bid equest Form hed. as Bid Packet B-25009 signed, Addendum 1 signed as Bid Packet B-25009 signed, Addendum 1	equest ned.FormV2-ID-CTEN-9130ched.1, Signed Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request for Bid equest FormV2-ID-CTEN-9130asBid Packet B-25009 signed, Addendum 1 signedC9300-48U-EasBid Packet B-25009 signed, Addendum 1 signedC9300-NW-E-48asBid Packet B-25009 signed, Addendum 1 signedSC9300UK9-176asBid Packet B-25009 signed, Addendum 1 signedSC9300-DNA-E-48asBid Packet B-25009 signed, Addendum 1 signedCAB-TA-NAasBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48asBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48-3YasBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48-3YasBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48-3YasBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48-3Y	equest hed.Forminternal antennashed.Signed Addendum No. 1, Signed Certification of o for Contract Bidder Form, Signed Request for Bid FormV2-ID-CTEN-9130Wi-Fi Ceiling Tile Mount with Interchangeable Door for Cisco 9130 APsasBid Packet B-25009 signed, Addendum 1 signedC9300-48U-ECatalyst 9300 48-port UPOE, Network EssentialsasBid Packet B-25009 signed, Addendum 1 signedC9300-NW-E-48C9300 Network Essentials, 48port licenseasBid Packet B-25009 signed, Addendum 1 signedSC9300UK9-176Cisco Catalyst 9300 XE 17.6 UNIVERSALasBid Packet B-25009 signed, Addendum 1 signedSC9300UK9-176Cisco Catalyst 9300 XE 17.6 UNIVERSALasBid Packet B-25009 signed, Addendum 1 signedSC9300UK9-176Cisco Catalyst 9300 XE 17.6 UNIVERSALasBid Packet B-25009 signed, Addendum 1 signedPWR-C1-1100WAC1100W AC Config 1 Power SupplyasBid Packet B-25009 signed, Addendum 1 signedPWR-C1-1100WAC/2 Power Supply1100W AC Config 1 Secondary Power SupplyasBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48C9300 DNA Essentials, 48- Port Term LicensesasBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48-3Y Signed, Addendum 1 signedC9300-DNA-E-48-3Y C9300 DNA Essentials, 48- Port Term LicensesasBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48-3Y C9300 DNA Essentials, 48- Port Term LicensesasBid Packet B-25009 signed, Addendum 1	equest hed.Forminternal antennasaddSigned Addendum No. (Ched.1, Signed Certification of Contract Bidder Form, Signed Request for Bid FormV2-ID-CTEN-9130 with Interchangeable Door for Cisco 9130 APs86asBid Packet B-25009 signed, Addendum 1 signedC9300-48U-E (Cisco 9130 APsCatalyst 9300 48-port UPOE, Network Essentials30asBid Packet B-25009 signed, Addendum 1 signedC9300-NW-E-48 (Cisco 2000 Network Essentials, 48port license30asBid Packet B-25009 signed, Addendum 1 signedSC9300UK9-176 (Disco 2000 Network Essentials, Signed, Addendum 1 signedCisco Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL30asBid Packet B-25009 signed, Addendum 1 signedPWR-C1-1100WAC PWR-C1-1100WAC1100W AC Config 1 Power Supply30asBid Packet B-25009 signed, Addendum 1 signedPWR-C1- 1100WACC POwer Supply1100W AC Config 1 Secondary Power Supply30asBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48 Power CableC9300 DNA Essentials, 48- Power Cable30asBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48-3Y Power CableC9300 DNA Essentials, 48- port - 3 Year Term License30asBid Packet B-25009 signed, Addendum 1 signedC9300-NM-8X Catalyst 9300 8 x 10GE Network ModuleCatalyst 9300 8 x 10GE Network Module11	equest hed.Forminternal antennasImage: Signed Addendum No. V2-ID-CTEN-9130V2-ID-CTEN-9130Wi-Fi Ceiling Tile Mount with Interchangeable Door for Cisco 9130 APs86\$ordContract Bidder Form, Signed Request for Bid equest FormSigned Addendum 1 signedC9300-48U-ECatalyst 9300 48-port UPOE, Network Essentials30\$asBid Packet B-25009 signed, Addendum 1 signedC9300-NW-E-48C9300 Network Essentials, 48port license30\$asBid Packet B-25009 signed, Addendum 1 signedSC9300UK9-176Cisco Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL30\$asBid Packet B-25009 signed, Addendum 1 signedSC9300UK9-176Cisco Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL30\$asBid Packet B-25009 signed, Addendum 1 signedSC9300UK9-176Cisco Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL30\$asBid Packet B-25009 signed, Addendum 1 signedPWR-C1-1100WACZ PWR-C1-1100WACZ1100W AC Config 1 Power Supply30\$asBid Packet B-25009 signed, Addendum 1 signedCAB-TA-NA Power CableNorth America AC Type A Power Cable600\$asBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48-3Y C9300-DNA-E-48-3YC9300 DNA Essentials, 48- Port Term License30\$asBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48-3Y C9300-DNA-E-48-3YC9300 DNA Essentials, 48- Port Term License30\$asBid Pac	equest red.Forminternal antennasinternal antennassignedSigned Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request for Bid equest red.V2-ID-CTEN-9130Wi-Fi Ceiling Tile Mount with Interchangeable Door for Clsco 9130 APsSégned Request for Bid Parker StateSégned Request for Bid Parker StateSégned Request for Bid Parker StateSégned Request for Bid Parker StateCatalyst 9300 48-port UPOE, Network Essentials30\$ 5,300.00assBid Packet B-25009 signed, Addendum 1 signedC9300-NW-E-48 Parker StateC9300 Network Essentials, 48port license30\$ Parker StateassBid Packet B-25009 signed, Addendum 1 signedSC9300UK9-176 PUR-C1-1100WACClsco Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL UNIVERSAL UNIVERSAL30\$ Parker StateassBid Packet B-25009 signed, Addendum 1 signedPWR-C1-1100WAC/2 POwer Supply1100W AC Config 1 Power Supply30\$ 903.00assBid Packet B-25009 signed, Addendum 1 signedCAB-TA-NA Power CableNorth America AC Type A Power Cable60\$ Power CableassBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48 Port Term Licensee30\$ 573.00assBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48-b Port Term Licensee30\$ 573.00assBid Packet B-25009 signed, Addendum 1 signedC9300-DNA-E-48-b Port Term Licensee30\$ 573.00signedBid Packet B-25009 s	equest ted.FormInternal antennasImage: Signed Addendum No. 1, Signed Addendum No. 1, Signed Certification of Contract Bidder Form, Signed Request FormV2-ID-CTEN-9130 Wi-Fi Ceiling Tile Mount with Interchangeable Door for Cisco 9130 APs86\$228.23\$asBid Packet 8-25009 signed, Addendum 1 signedC9300-48U-E (2300-NW-E-48Catalyst 9300 48-port UPOE, Network Essentials, 48port license30\$5,300.00\$asBid Packet 8-25009 signed, Addendum 1 signedC9300-NW-E-48 (2300-NW-E-48C9300 Network Essentials, 48port license30\$-\$asBid Packet 8-25009 signed, Addendum 1 signedSC9300UK9-176 (Disco Catalyst 9300 XE 17.6 SupplyCisco Catalyst 9300 XE 17.6 (UNIVERSAL UNIVERSAL30\$-\$asBid Packet 8-25009 signed, Addendum 1 signedSC9300UK9-176 (Disco Catalyst 9300 XE 17.6 (DINVERSAL UNIVERSAL30\$-\$asBid Packet 8-25009 signed, Addendum 1 signedPWR-C1-1100WAC (DINVERSAL UNIVERSAL30\$-\$asBid Packet 8-25009 signed, Addendum 1 signedCAB-TA-INA Power CableNorth America AC Type A Power Cable60\$-\$asBid Packet 8-25009 signed, Addendum 1 signedC9300-DNA-E-48 (C9300 DNA Essentials, 48- Port Term Licenses30\$\$-\$asBid Packet 8-25009 signed, Addendum 1 signedC9300-DNA-E-48-37 C9300 DNA Essentials, 48- Port Term Licenses30\$	equest red.Form red.Internal antennasImage: Comparison of contract Bidder Form, Contract Bidder Form, Signed Request for BidV2-ID-CTEN-9130 with Interchangeable Door for Cisco 9130 APS86\$228.23\$19,627.78asBid Packet B-25009 signed, Addendum 1 signedC3900-48U-E cisco 9130 APSCatalyst 9300 48-port UPOE, Network Essentials30\$\$5,300.00\$159,000.00asBid Packet B-25009 signed, Addendum 1 signedC3900-NW-E-48 signed, Addendum 1 signedC9300 Network Essentials, 48port license30\$\$asBid Packet B-25009 signed, Addendum 1 signedS0900-NW-E-48 signed, Addendum 1 signedC1000 AC Config 1 Power Supply30\$\$asBid Packet B-25009 signed, Addendum 1 signedPWR-C1-1100WAC/2 Supply1100W AC Config 1 Power Supply30\$\$asBid Packet B-25009 signed, Addendum 1 signedPWR-C1-1100WAC/2 Supply1100W AC Config 1 Secondary Power Supply30\$\$asBid Packet B-25009 signed, Addendum 1 signedC3900 DNA Essentials, 48- Power Cable30\$\$asBid Packet B-25009 signed, Addendum 1 signedC3900-DNA Essentials, 48- Power Cable30\$\$asBid Packet B-25009 signed, Addendum 1 signedC3900-DNA Essentials, 48- Power Cable30\$\$ <t< td=""><td>equed form internal antennas internal antennas internal antennas   red. Signed Addendum No. V2-ID-CTEN-9130 WI-FI Celling Tile Mount with Interchangeable Door for Cisco 9130 APs Signed Acquest for Bid Signed Acques</td><td>englest   form   internal antennas   internal antenna</td><td>orm internal antennas internal antenna</td></t<>	equed form internal antennas internal antennas internal antennas   red. Signed Addendum No. V2-ID-CTEN-9130 WI-FI Celling Tile Mount with Interchangeable Door for Cisco 9130 APs Signed Acquest for Bid Signed Acques	englest   form   internal antennas   internal antenna	orm internal antennas internal antenna

Supplier Name	Response Notes	Response Attachment	Item Number (Requi	r Item/Service (Required - Entity	Quantity (R	e Unit B	id Price (Rea	Extended Bid Price	Notes	SupplierNotes	Attachmei	<sup>·</sup> NoBid
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	STACK-T1-50CM	50CM Type 1 Stacking Cable	19	\$	48.00					No
	entered	signed, Addendum 1 signed										
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	STACK-T1-3M=	3M Type 1 Stacking Cable	6	\$	172.00	\$ 1,032.00				No
	entered	signed, Addendum 1 signed										
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	C9300X-48TX-E	Catalyst 9300 48-port mGig	2	\$	6,473.00	\$ 12,946.00				No
	entered	signed, Addendum 1 signed		data only, Network Essentials								
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port	2	\$	-	\$-				No
	entered	signed, Addendum 1 signed		Term Licenses								
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port	2	\$	573.00	\$ 1,146.00				No
	entered	signed, Addendum 1 signed		- 3 Year Term License								
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	C9300-NW-E-48	C9300 Network Essentials, 48-	2	\$	-	\$-				No
	entered	signed, Addendum 1 signed		port license								
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	SC9300UK9-1712	Cisco Catalyst 9300 XE 17.12	2	\$	-	\$-				No
	entered	signed, Addendum 1 signed		UNIVERSAL								
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	PWR-C1-715WAC-P	715W AC 80+ platinum Config	2	\$	-	\$-				No
	entered	signed, Addendum 1 signed		1 Power Supply								
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	PWR-C1-715WAC-P/2	715W AC 80+ platinum Config	2	\$	594.00	\$ 1,188.00				No
	entered	signed, Addendum 1 signed		1 SecondaryPower Supply								
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	CAB-TA-NA	North America AC Type A	4	\$	-	\$-				No
	entered	signed, Addendum 1 signed		Power Cable								
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	C9300-NM-8Y	Catalyst 9300 8 x 25G/10G/1G	2	\$	1,212.00	\$ 2,424.00				No
	entered	signed, Addendum 1 signed		multi-rate SFP Network Module								
Tallgrass Systems Ltd.	Please see pricing as entered	Bid Packet B-25009 signed, Addendum 1 signed	SFP-10G-SR-S	10GBASE-SR SFP+ Module for MMF	4	\$	303.00	\$ 1,212.00				Νο
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	C9130AXI-B		130	\$	1,206.00	\$ 156,780.00				No
	entered	signed, Addendum 1 signed		Cisco Catalyst 9130AXI Access Point: Indoor environments, with internal antennas								
Tallgrass Systems Ltd.	Please see pricing as	Bid Packet B-25009	V2-ID-CTEN-9130		86	\$	259.00	\$ 22,274.00				No
	entered	signed, Addendum 1 signed		Wi-Fi Ceiling Tile Mount with Interchangeable Door for Cisco 9130 APs								
Zones, LLC		Zones, LLC	С9300-48U-Е	Catalyst 9300 48-port UPOE, Network Essentials	30	\$	5,163.37	\$ 154,901.10				No
Zones, LLC		Zones, LLC	C9300-NW-E-48	C9300 Network Essentials, 48port license	30	\$	-	\$-				No
Zones, LLC		Zones, LLC	SC9300UK9-176	Cisco Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL	30	\$	-	\$-				No
Zones, LLC		Zones, LLC	PWR-C1-1100WAC	1100W AC Config 1 Power Supply	30	\$	-	\$-				No
Zones, LLC		Zones, LLC	PWR-C1- 1100WAC/2	1100W AC Config 1 Secondary Power Supply	30	\$	879.66	\$ 26,389.80				No
Zones, LLC		Zones, LLC	CAB-TA-NA	North America AC Type A Power Cable	60	\$	-	\$-				No
Zones, LLC		Zones, LLC	C9300-DNA-E-48	C9300 DNA Essentials, 48-	30	\$	-	\$-				No
				Port Term Licenses								

Supplier Name	Response Notes	Response Attachmen	t Item Number (Requi	r Item/Service (Required - Entit	Quantity (F	Re(Unit I	Bid Price (Req	Extended Bid Price	Notes	SupplierNotes	Attachme	r NoBid
Zones, LLC		Zones, LLC	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48- port - 3 Year Term License	30	\$	559.48	\$ 16,784.40				No
Zones, LLC		Zones, LLC	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module	11	\$	1,224.36	\$ 13,467.96				No
Zones, LLC		Zones, LLC	SFP-10G-LR-S	10GBASE-LR SFP+ transceiver module for SMF, 1310-nm wavelength, LC duplex connector	20	\$	835.73	\$ 16,714.60				No
Zones, LLC		Zones, LLC	STACK-T1-50CM	50CM Type 1 Stacking Cable	19	\$	42.22	\$ 802.18				No
Zones, LLC		Zones, LLC	STACK-T1-3M=	3M Type 1 Stacking Cable	6	\$	153.18	\$ 919.08				No
Zones, LLC		Zones, LLC	C9300X-48TX-E	Catalyst 9300 48-port mGig data only, Network Essentials	2	\$	6,306.49	\$ 12,612.98				No
Zones, LLC		Zones, LLC	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	2	\$	-	\$-				No
Zones, LLC		Zones, LLC	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port - 3 Year Term License	2	\$	559.48	\$ 1,118.96				No
Zones, LLC		Zones, LLC	C9300-NW-E-48	C9300 Network Essentials, 48- port license	2	\$		\$-				No
Zones, LLC		Zones, LLC	SC9300UK9-1712	Cisco Catalyst 9300 XE 17.12 UNIVERSAL	2	\$		\$-				No
Zones, LLC		Zones, LLC	PWR-C1-715WAC-P	715W AC 80+ platinum Config 1 Power Supply		\$		\$ -				No
Zones, LLC		Zones, LLC	PWR-C1-715WAC-P/2	2 715W AC 80+ platinum Config 1 SecondaryPower Supply	2	\$	578.73	\$ 1,157.46				Νο
Zones, LLC		Zones, LLC	CAB-TA-NA	North America AC Type A Power Cable	4	\$	-	\$-				No
Zones, LLC		Zones, LLC	C9300-NM-8Y	Catalyst 9300 8 x 25G/10G/1G multi-rate SFP Network Module	2	\$	1,180.61	\$ 2,361.22				No
Zones, LLC		Zones, LLC	SFP-10G-SR-S	10GBASE-SR SFP+ Module for MMF	4	\$	292.64	\$ 1,170.56				No
Zones, LLC		Zones, LLC	C9130AXI-B	Cisco Catalyst 9130AXI Access Point: Indoor environments, with internal antennas	130	\$	1,046.34	\$ 136,024.20				No
Zones, LLC		Zones, LLC	V2-ID-CTEN-9130	Wi-Fi Ceiling Tile Mount with Interchangeable Door for Cisco 9130 APs	86	\$	242.05	\$ 20,816.30				No